RESEARCH





Differential impact of pegfilgrastim, a recombinant human granulocyte colony stimulating factor, on the neutrophil count of male and female deer mice (*Peromyscus maniculatus bairdii*)

J.P. Strydom¹, Linda Brand¹, Francois P. Viljoen¹ and De Wet Wolmarans^{1*}

Abstract

Background An increasing body of research implicates inflammatory processes, including alterations in the neutrophil-lymphocyte ratio (NLR), in the pathophysiology of psychiatric illness. The deer mouse (*Peromyscus maniculatus bairdii*) is commonly studied for its naturalistic expression of compulsive-like behaviour. Towards future efforts to gain an understanding of how innate and adaptive immune processes might be involved in this model, we aimed to study the effects of pegfilgrastim, a pegylated recombinant human granulocyte colony-stimulating factor (g-CSF) analogue, on the NLR of both male and female deer mice.

Methods Briefly, 54 deer mice (equally distributed between sexes) were exposed to a single injection with either control or pegfilgrastim (0.1 or 1 mg/kg) (*n* = 18 per group). Six mice of each group (three per sex) were euthanized on days two, four and seven post-administration, their blood collected and the NLR calculated. Data were analysed by means of ordinary three-way ANOVA, followed by Bonferroni post-hoc testing.

Results Irrespective of dose, pegfilgrastim resulted in higher NLR values in mice of both sexes at days four and seven of testing. However, female mice exposed to the higher dose, presented with significantly higher NLR values irrespective of time, compared to male mice exposed to the same.

Conclusion The data generated from this work highlight important dose- and sex-specific aspects of pegfilgrastim with female mice showing heighted elevation of the NLR in response to high-dose pegfilgrastim administration only. Since the innate immune components of male and female deer mice is differentially sensitive to g-CSF stimulation, our results provide a useful basis for further study of sex-specific immunological processes in deer mice.

Keywords Neutrophil-lymphocyte ratio, Deer mouse, Pegfilgrastim, G-CSF, Compulsive, Animal model

*Correspondence: De Wet Wolmarans dewet.wolmarans@nwu.ac.za ¹Center of Excellence for Pharmaceutical Sciences, Department of

Pharmacology, Faculty of Health Sciences, North-West University, Building G23, Office 315, 11 Hoffman Street, Potchefstroom 2531, South Africa



© The Author(s) 2024. **Open Access** This article is licensed under a Creative Commons Attribution 4.0 International License, which permits use, sharing, adaptation, distribution and reproduction in any medium or format, as long as you give appropriate credit to the original author(s) and the source, provide a link to the Creative Commons licence, and indicate if changes were made. The images or other third party material in this article are included in the article's Creative Commons licence, unless indicated otherwise in a credit line to the material. If material is not included in the article's Creative Commons licence, unless indicated otherwise in a credit line to the material. If material is not included in the article's Creative Commons licence and your intended use is not permitted by statutory regulation or exceeds the permitted use, you will need to obtain permission directly from the copyright holder. To view a copy of this licence, visit http://creativecommons.org/licenses/by/4.0/. The Creative Commons Public Domain Dedication waiver (http://creativecommons.org/publicdomain/zero/1.0/) applies to the data made available in this article, unless otherwise stated in a credit line to the data.

Background

An increasing body of research implicates inflammatory processes in the aetiology and pathophysiology of psychiatric illness [1]. With respect to obsessive-compulsive disorder (OCD), clinical data implicate immune system involvement in specific cohorts. For example, children diagnosed with paediatric autoimmune neuropsychiatric disorders associated with streptococcal infection (PANDAS) and paediatric acute-onset neuropsychiatric syndrome (PANS) present with sudden-onset compulsive symptoms following said immunogenic hit [2]. Also, elevated plasma inflammatory cytokine concentrations were observed in adult cohorts in the absence of prior infectious history or other clinical comorbidities [3]. In contrast, reductions in inflammatory markers were also noted [4], while a recent systematic review and meta-analysis of the available literature failed to confirm immune dysregulation in OCD [5]. While such disparity in findings can likely be ascribed to differences in research methodologies followed in the various investigations [5], a clear understanding of how immunological mechanisms may underlie compulsive symptom expression is further clouded by therapeutic findings. Indeed, the clinical efficacy of immunomodulation, though currently recommended for the treatment of PANDAS/ PANS [6], remains suboptimal [7].

One proposed marker of heightened inflammatory responses is an increased neutrophil-lymphocyte ratio (NLR) [8] which rather than being illness-specific, is a broad indication of mostly innate immune activation that occurs in both infective [9] and non-infective [10] conditions. Although widely investigated in conditions not related to the central nervous system [11], increased NLR values have also been observed in neuropsychiatric cohorts, e.g. patients suffering from schizophrenia, bipolar disorder, major depressive disorder [8], and OCD [12].

While increased NLR values do not associate with specific conditions per se, manipulations of the NLR in animal model systems might be informative for an understanding of how innate and acquired immune components may interact to modulate the expression of specific behavioural phenotypes. To this end, naturalistic animal models that mimic specific biobehavioural aspects of human neuropsychiatric conditions, could be useful [13]. One example is the deer mouse (*Peromyscus maniculatus* bairdii), a wildtype model system that has been extensively validated in terms of its resemblance of compulsive-like behavioural expression. When bred, reared, and housed under standard laboratory conditions, approximately 40% of deer mice of both sexes spontaneously develop high stereotypical behaviour (HS). HS behaviour is repetitive and persistent, occurs in the absence of a clear goal, and waxes and wanes throughout the course of a wake cycle [14] (for a detailed review, see Scheepers,

Stein [15]). Two main stereotypical phenotypes have been described, i.e. vertical jumping and pattern running stereotypies [16]. Said behaviours also resemble OCD in terms of its neurobiological underpinnings and response to pharmacotherapy. Specifically, HS is founded upon similar cortico-striatal perturbations than clinical OCD [14, 17] and is modestly responsive to chronic, high-dose exposure to the selective serotonin reuptake inhibitor, escitalopram [16]. While changes in immune system activation and white cell proliferation in deer mice have been studied against the background of environmental fluctuation before (see Demas and Nelson [18] and others), no investigation has yet explored the potential effects of pharmacological NLR manipulation on the behavioural output in this species.

Since we apply deer mice of both sexes in our laboratory to model specific aspects of compulsive-like behavioural persistence, and given that we, as part of ongoing work, intend to investigate the potential effects of NLR manipulation on stereotypical motor expression, we first aimed to explore the effects of pegfilgrastim, a pegylated recombinant human granulocyte colony-stimulating factor (g-CSF) analogue [19], on the NLR of both male and female deer mice. This approach was necessary for two reasons. Firstly, most prior investigations relating to the development [20] of pegfilgrastim and its application in other mouse strains [21], were completed in male mice. Secondly, longitudinal, neurodevelopmental investigations into the effects of NLR manipulation on adult deer mouse behaviour will be contingent on the chronic manipulation of immune functioning. The present investigation thus employed pegfilgrastim, as opposed to its unpegylated form, filgrastim, since it showed a longerlasting effect on the neutrophil count of male mice after a single injection in previous work [20]. This reduces the need for multiple injections administered over a single week, thereby enabling long-term study.

Methods

Study layout

This investigation was conducted over seven days in fiftyfour (54) deer mice aged 10–16 weeks (approximately 18 g) at the onset of investigation (Fig. 1). Mice were randomly divided into three different exposure groups (n=18, per group, equally distributed between sexes), i.e. (i) normal water control, (ii) pegfilgrastim 0.1 mg/kg [20], and (iii) pegfilgrastim 1 mg/kg [20]. After a single injection, mice of each exposure group were euthanized in groups of n=6 (n=3 per sex) per exposure group on postinjection days two, four and seven, respectively.

Animals and housing

Deer mice (*Peromyscus maniculatus bairdii*), of which the progenitors were acquired from the *Peromyscus* Genetic



Fig. 1 Schematic representation of experimental layout. s.c.i.: subcutaneous injection; crosses indicate euthanisation of six animals per group on days 2, 4, and 7, respectively

Stock Center (University of South Carolina, USA), were bred, reared, and housed at the vivarium (SAVC reg no: FR15/13458; AAALAC accreditation file: 1717) of the North-West University (NWU), Potchefstroom, South Africa. Two days prior to experimental group allocation on experimental day 0, mice were randomised considering litter and rearing cage and reintroduced in groups of three same-sex animals per cage (see 'Drug' also). Cages $[35 \text{ cm} (l) \times 20 \text{ cm} (w) \times 13 \text{ cm} (h); \text{Techniplast}^{\circ} \text{ S.P.A.},$ Varese, Italy] were individually ventilated, kept at 23 °C and a relative humidity of 60%, and maintained on a normal 12-h light/dark cycle (06:00/18:00). Food (standard rodent chow) and water were provided ad lib. Cages were equipped with paper towel as a form of nesting material and a 10 cm-long piece of polyvinylchloride pipe as a form of environmental enrichment. All experiments were approved by the AnimCare research ethics committee of the North-West University (approval number: NWU-00760-22-A5) and were carried out in accordance with the South African National Standard 10386: 'The Care and Use of Animals for Scientific Purposes'.

Drug exposure

Pegfilgrastim (Pegylastin^{*}, 0.6 mL of a 10 mg/mL readyto-inject solution) was acquired from CJ Pharmaceutical Enterprises LTD (Delmas, South Africa). To constitute smaller stock solutions, 100 μ L of the marketed formula were diluted to a volume of 5 mL with water for injection (Fresenius-Kabi^{*}, Qheberha, South Africa). The resulting solution was slowly stirred by vortex and used to administer the dose of 1 mg/kg dose. Another identical stock solution was further diluted to 50 mL using water for injection; this was used to administer the 0.1 mg/kg dose. These doses were based on previous pre-clinical study in mice [20]. Since the individual weights of mice varied between 14 g and 22 g, the injection volume was never more than 110 μ L, administered into the interscapular subcutaneous tissue. All stock solutions were freshly prepared on experimental day 0. Mice injected with control received water for injection at the same volume-perweight ratio as used for pegfilgrastim. To prevent housing bias from confounding the results, each mouse in a specific housing cage was ear-tagged for identification purposes and assigned to a different exposure group.

Sample collection and slide preparation

On experimental days two, four and seven, the required number of animals were euthanised by means of cervical dislocation without prior exposure to an anaesthetic [22] and decapitated by means of a rapid guillotine cut. After decapitation, trunk blood was collected in ethylenediaminetetraacetic acid-containing microtainers. Immediately following the collection of trunk blood, a single drop of whole blood was transferred onto a glass slide, using a capillary pipette. Smears were subsequently prepared according to the method of Houwen [23].

Leukocyte staining and differential cell counting

Leukocyte staining was performed using a standard Hemacolor[®] staining kit (Merck[®], Johannesburg, South Africa) as specified by the manufacturer. Neutrophil and lymphocyte counts were subsequently conducted using a trinocular light microscope (B-190 series, $60 \times$ magnification, OPTIKA[®] Italy, Ponteranica, Italy), following the prescribed protocol of Koepke [24]. Differential counts of 100 cells on each slide were performed twice by a blind observer. If the two NLR values varied by more than 25%, slides were recounted for a third time. Counting results were recorded as percentages which were used to calculate the NLR (final counted values shown in Table 1).

 Table 1
 Neutrophil and lymphocyte counts in male and female mice exposed to a single control or pegfilgrastim (0.1 or 1 mg/kg)

 subcutaneous injection at day two, four and seven post-administration

2 0 M 24 75 0.300 M 32 61 0.520 M 32 62 0.71 F 14 0.200 0.726 F 26 67 0.388 0.1 M 32 63 M 32 63 0.422 F 28 67 0.438 F 28 63 0.432 F 28 68 0.432 F 28 68 0.432 F 28 68 0.432 F 28 64 0.433 F 30 66 0.455 M 29 64 0.433 F 32 57 0.614 M 29 64 0.433 F 32 57 0.614 M 29 73 0.399 M 13 82 0.910 M 13 32 0.910 M 17 78 0.910 M 32 65 0.490 M 32 65 0.490 M 32 63 0.910 <th>Day</th> <th>Dose (mg/kg)</th> <th>Sex</th> <th>Neutrophils</th> <th>Lymphocytes</th> <th>NLR</th>	Day	Dose (mg/kg)	Sex	Neutrophils	Lymphocytes	NLR
Partial problem of the second seco	2	0	Μ	24	75	0.320
P 21 66 020 F 14 82 0171 P 20 67 0.388 P 20 67 0.42 P 22 65 0.422 P 28 67 0.41 P 28 67 0.41 P 28 68 0.422 P 28 68 0.412 P 28 68 0.412 P 30 64 0.453 P 32 73 0.579 P 32 74 0.453 P 32 74 0.453 P 32 74 0.53 P 32 74 0.53 P 13 32 0.57 P 13 24 0.53 P 14 13 0.44 P 14 13 0.57 P			Μ	32	61	0.525
F 21 76 0.276 F 26 67 0.388 0.1 M 33 61 0.641 M 23 71 0.324 F 28 67 0.418 M 23 71 0.324 F 28 66 0.332 F 34 61 0.557 M 29 64 0.438 M 30 66 0.432 F 32 63 0.455 M 29 64 0.453 F 35 57 0.614 M 13 84 0.155 M 13 84 0.152 M 13 38 0.164			Μ	32	64	0.500
F 14 82 0.171 F 26 67 0.38 0.1 M 32 65 0.492 M 32 65 0.492 F 28 67 0.314 F 28 67 0.418 F 26 68 0.325 F 26 68 0.412 M 30 66 0.455 M 30 66 0.455 F 31 57 0.579 F 32 63 0.509 F 32 63 0.509 F 32 63 0.509 M 22 74 0.209 F 15 82 0.30 F 15 82 0.30 F 17 78 0.218 M 47 50 0.404 M 47 50 0.414 <t< td=""><td></td><td>F</td><td>21</td><td>76</td><td>0.276</td></t<>			F	21	76	0.276
P 26 67 0.388 0.1 M 33 61 0.442 M 23 71 0.324 F 26 66 0.382 F 34 61 0.328 F 34 61 0.328 F 34 61 0.328 F 34 66 0.455 M 30 66 0.455 F 32 63 0.57 F 32 63 0.57 F 32 63 0.59 F 32 63 0.59 F 32 63 0.59 F 32 63 0.59 M 13 84 0.55 F 15 82 0.33 F 15 82 0.442 M 47 50 0.400 N 47 50 0.451			F	14	82	0.171
0.1 M 33 61 0.401 M 32 65 0.492 M 28 67 0.418 F 28 66 0.455 M 28 68 0.412 F 31 0.1 0.557 M 29 64 0.453 F 33 57 0.579 M 29 64 0.453 F 35 57 0.614 M 22 74 0.299 F 35 57 0.614 M 22 73 0.598 F 35 57 0.614 M 22 73 0.299 F 15 82 0.133 F 15 82 0.133 F 15 82 0.133 F 16 17 78 0.218 F 17 78 0.219 M 32 65 0.940 M 32 65 0.940 M 32 65 0.940 M 32 65 0.940 M 32 72 0.30			F	26	67	0.388
No. 1.2.2.2.2.2.2.2.2.2.2.2.2.2.2.2.2.2.2.		0.1	Μ	33	61	0.541
M 23 71 0.324 F 28 67 0.418 F 28 67 0.412 F 34 61 0.557 M 29 64 0.455 M 29 63 0.579 F 32 63 0.579 F 32 63 0.508 M 29 64 0.435 M 29 63 0.508 F 32 63 0.508 M 13 84 0.155 M 13 84 0.155 M 14 13 84 0.155 M 15 82 0.400 M 32 65 0.490			Μ	32	65	0.492
F 28 67 0.418 F 26 0.68 0.382 F 30 0.66 0.455 M 29 64 0.63 F 32 57 0.579 F 32 57 0.579 F 32 57 0.514 M 22 74 0.297 M 13 84 0.155 M 22 74 0.297 M 13 84 0.155 M 24 73 0.333 F 15 82 0.133 F 24 72 0.333 M 32 65 0.490			Μ	23	71	0.324
F 26 68 0.322 F 34 61 0.557 M 30 66 0.455 M 29 64 0.653 F 32 63 0.508 M 22 73 0.232 M 24 73 0.232 F 15 84 0.155 M 24 73 0.232 F 16 17 78 0.218 M 47 78 0.218 M 32 65 0.492 M 32 63 0.59 M 32 63 0.494 M 32 63 0.494 M 34 61 0.557 <			F	28	67	0.418
F34610.557IM28660.455M29640.453F33570.579F35570.614M22740.297M24730.329F15820.83M24730.329F17780.218F17780.218F17780.218F38590.661M24600.600F38590.614F38590.614F38590.614F39590.614F31440.155M22720.336F53440.155M22710.316F53440.151M22710.316F51440.151M22710.316F53440.151F51830.151M22710.218F13860.151M236460M24690.348F13820.151M246060M36600.600M21730.218M36600.600			F	26	68	0.382
1 M 28 68 0412 M 30 66 0455 M 29 64 0455 F 33 57 0579 F 32 63 0508 F 32 63 0508 M 22 74 0297 M 13 84 0.55 M 24 73 0.329 F 15 82 0.83 F 15 82 0.83 F 17 78 0.218 F 17 78 0.218 M 32 65 0.492 M 34 63 0.59 M 32 65 0.492 M 32 65 0.494 F 33 44 0.155 M 13 86 0.151 M 13 86 0.151			F	34	61	0.557
M30660455M29640.653F33570.508F32630.508F35570.614M22740.297M13840.155M24730.329F15820.88F17780.218N47500.940M36600.601F38590.641F38590.641F38590.661F34610.557M22720.306F34630.540M22720.366M47500.940F53441.159F53441.159F53441.159F53441.159F51441.159F53441.159F53441.051F53450.164M13860.151M77780.218F13820.161M36600.060M32630.161M32630.161M13820.151M15830.181F13820.151<		1	Μ	28	68	0.412
M29640.433F33570.579F35570.614F35570.614M22740.297M13840.155M24730.329F15820.183F17780.218F17500.940M32650.492M32650.642F38590.661F39590.661F38440.557M22720.306M22720.306M23441.159F53441.205F51441.159F52660.610M22720.306M17780.218F50471.064F50470.151M17780.218F13820.151M17780.218F13820.151M17780.218F13820.151M17780.218F13820.151M17780.218F13820.151M17780.218F13820.151 <tr< td=""><td></td><td></td><td>М</td><td>30</td><td>66</td><td>0.455</td></tr<>			М	30	66	0.455
F33570.579F32630.008F35570.614M22740.297M13840.155M24730.329F15820.333F17780.218N47500.940M36600.600F38590.644F38590.644F38590.644F38590.644F38590.644F36630.557M24720.305F53440.557F534441.055F534441.059F51441.159F53470.040F51441.051M13860.151M13860.316M13860.316M17780.218F13820.316M17780.218F13820.316M13820.316M13820.316M13820.316M13820.316M13820.316M13820.316M13820.316<			М	29	64	0.453
46600			F	33	57	0.579
PPPPPPPPPM22740.297M13840.155M24730.232F15820.183F24720.333F24720.333F17780.218M47500.949M32650.492M32650.492M36600.601F38590.641F34610.557M34630.540M34630.540M34630.540M34630.540P51441.159F51441.159F51441.159F51441.159P6113860.151M13860.151M17780.218F15830.181F13820.159M36600.601F13820.151M36600.601F13820.151M36600.601F13820.151M30640.651F13820.155M30640.661 <td></td> <td></td> <td>F</td> <td>32</td> <td>63</td> <td>0.508</td>			F	32	63	0.508
40M22740.297M13840.155M24730.329F15820.183F24720.333F17780.2180.1M47500.940M32650.492M36600.600F38590.661F38590.661F34610.557M22720.306M22720.306M22720.306M23660.151M22710.316M13860.151M13860.151M7780.218F15830.181F15830.181F15830.181F15830.181F15830.181F15830.181F15830.181F15830.181F15830.181F15830.181F15830.181F15830.181F15830.181F15830.181F15830.181F15830.181F15 <t< td=""><td></td><td></td><td>F</td><td>35</td><td>57</td><td>0.614</td></t<>			F	35	57	0.614
M 13 84 0.155 M 24 73 0.329 F 15 82 0.183 F 17 78 0.218 0.1 M 47 50 0.940 M 32 65 0.492 M 36 60 0.601 F 38 59 0.661 F 34 61 0.557 M 34 63 0.50 N 22 72 0.306 M 22 72 0.306 M 22 72 0.306 M 47 50 0.940 M 22 72 0.306 M 47 50 0.940 M 22 71 0.306 M 13 86 0.151 M 13 86 0.151 M 13 82 0.181	4	0	Μ	22	74	0.297
N 24 73 0.329 F 15 82 0.183 F 24 72 0.333 F 17 78 0.218 N 47 50 0.940 M 47 50 0.940 M 32 65 0.492 M 36 60 0.600 F 38 59 0.641 F 38 59 0.641 F 38 59 0.641 F 38 59 0.641 M 34 63 0.557 M 32 72 0.306 M 22 72 0.306 M 42 63 0.51 F 53 44 1.055 F 50 47 1.064 M 17 78 0.218 F 15 83 0.181 F <td></td> <td></td> <td>Μ</td> <td>13</td> <td>84</td> <td>0.155</td>			Μ	13	84	0.155
F 15 82 0.183 F 24 72 0.333 F 17 78 0.218 0.1 M 47 50 0.940 M 32 65 0.492 M 36 60 0.600 F 38 59 0.641 F 39 59 0.661 F 34 61 0.557 M 34 63 0.500 M 22 72 0.306 M 47 50 0.940 F 53 44 1.205 F 51 44 1.519 F 50 47 1.064 M 17 78 0.218 F 50 47 0.310 M 17 78 0.218 F 15 83 0.181 F 15 83 0.181			Μ	24	73	0.329
P 24 72 0.333 F 17 78 0.218 0.1 M 47 50 0.940 M 32 65 0.429 M 32 65 0.649 P 38 59 0.644 F 38 59 0.644 F 39 59 0.661 F 34 61 0.557 M 34 63 0.540 M 22 72 0.306 M 47 50 0.940 F 53 44 1.055 F 51 44 1.051 F 50 47 1.064 M 13 86 0.151 M 17 78 0.218 F 15 83 0.181 F 15 83 0.181 F 15 83 0.181			F	15	82	0.183
P.1 F 17 78 0.218 N 47 50 0.940 M 32 65 0.492 M 36 60 0.600 F 38 59 0.641 F 39 59 0.641 F 38 59 0.641 M 34 63 0.557 M 34 63 0.540 M 22 72 0.306 M 47 50 0.940 F 53 44 1.205 F 51 44 1.205 F 51 44 1.059 M 13 86 0.151 M 13 86 0.151 M 17 78 0.218 F 15 83 0.181 F 15 83 0.151 M 52 45 1.156			F	24	72	0.333
0.1 M 47 50 0.940 M 32 65 0.492 M 36 60 0.600 F 38 59 0.644 F 39 59 0.661 F 34 61 0.557 1 M 32 72 0.306 M 22 72 0.306 F 53 44 1.057 F 51 44 1.054 F 53 44 1.054 M 22 72 0.306 N 13 86 0.151 M 13 86 0.151 M 17 78 0.218 N 17 78 0.218 N 17 78 0.218 N 17 78 0.218 N 17 78 0.318 N 17 78 0.159			F	17	78	0.218
N 32 65 0.492 M 36 60 0.600 F 38 59 0.641 F 39 59 0.61 F 34 61 0.557 M 34 63 0.540 F 34 63 0.540 M 32 72 0.306 M 47 50 0.940 F 53 44 1.205 F 51 44 1.55 M 13 86 0.151 M 17 78 0.218 F 15 83 0.181 F 15 83 0.181 M 36 60 0.600 M <td></td> <td>0.1</td> <td>Μ</td> <td>47</td> <td>50</td> <td>0.940</td>		0.1	Μ	47	50	0.940
N 36 60 0.600 F 38 59 0.644 F 39 59 0.661 F 34 61 0.557 M 34 63 0.540 M 22 72 0.306 M 47 50 0.940 F 53 44 1.205 F 51 44 1.59 F 50 0.71 1.064 M 13 86 0.151 M 12 71 0.301 N 13 86 0.151 M 12 71 0.301 N 17 78 0.218 F 13 82 0.151 M 15 83 0.161 M 36 60 0.600 M 52 45 1.156 M 30 64 0.469 M<			Μ	32	65	0.492
F 38 59 0.644 F 39 59 0.61 F 34 61 0.557 M 34 63 0.540 M 22 72 0.306 M 47 50 0.940 F 53 44 1.205 F 51 44 1.59 F 50 47 1.064 M 13 86 0.151 M 13 86 0.151 M 17 78 0.218 F 15 83 0.181 F 15 83 0.181 M 17 78 0.218 F 13 82 0.159 M 36 60 0.600 M 36 60 0.600 M 30 64 0.488 F 30 64 0.488			Μ	36	60	0.600
F 39 59 0.661 F 34 61 0.557 1 M 34 63 0.540 M 22 72 0.306 M 22 72 0.306 M 47 50 0.940 F 53 44 1.205 F 51 44 1.159 F 50 47 1.064 M 13 86 0.151 M 12 71 0.310 N 12 71 0.310 N 12 71 0.310 N 17 78 0.218 F 13 82 0.181 F 13 82 0.199 N 36 60 0.600 M 36 61 0.469 M 30 64 0.469 F 30 67 0.448 <td></td> <td></td> <td>F</td> <td>38</td> <td>59</td> <td>0.644</td>			F	38	59	0.644
F34610.5571M34630.540M22720.306M47500.940F53441.205F51441.159F50471.064M13860.151M17780.218F24690.348F15830.181F13820.1590.1M36600.600M52451.156M30640.469F30640.469			F	39	59	0.661
1 M 34 63 0.50 M 22 72 0.306 M 47 50 0.940 F 53 44 1.205 F 51 44 1.159 F 50 47 1.064 7 0 M 13 86 0.151 M 22 71 0.310 M 13 86 0.151 M 12 71 0.310 M 17 78 0.218 F 24 69 0.348 F 15 83 0.181 F 13 82 0.159 0.1 M 36 60 0.600 M 36 60 0.600 0.600 M 30 64 0.469 F 30 67 0.448			F	34	61	0.557
M 22 72 0.306 M 47 50 0.940 F 53 44 1.205 F 51 44 1.159 F 50 47 1.064 7 0 M 13 86 0.151 M 22 71 0.310 M 12 78 0.218 F 24 69 0.348 F 15 83 0.181 F 13 82 0.159 0.1 M 36 60 0.600 M 36 60 0.600 M 52 45 1.156 M 30 64 0.469 F 30 64 0.448		1	М	34	63	0.540
M 47 50 0.940 F 53 44 1.205 F 51 44 1.159 F 50 47 1.064 7 0 M 13 86 0.151 M 22 71 0.310 M 17 78 0.218 F 24 69 0.348 F 15 83 0.181 F 13 82 0.159 0.1 M 36 60 0.600 M 36 60 0.600 0.600 M 36 64 0.469 F 30 64 0.448			М	22	72	0.306
F 53 44 1.205 F 51 44 1.159 F 50 47 1.064 7 0 M 13 86 0.151 M 22 71 0.310 0.151 M 17 78 0.218 F 24 69 0.348 F 15 83 0.181 F 13 82 0.159 0.1 M 36 60 0.600 M 32 45 1.156 M 30 64 0.469 F 30 67 0.448			М	47	50	0.940
F 51 44 1.159 7 0 M 13 86 0.151 M 13 86 0.151 M 22 71 0.310 M 17 78 0.218 F 24 69 0.348 F 15 83 0.181 F 13 82 0.159 0.1 M 36 60 0.600 M 36 60 0.600 M 30 64 0.469 F 30 67 0.448			F	53	44	1.205
F 50 47 1.064 7 0 M 13 86 0.151 M 22 71 0.310 M 17 78 0.218 F 24 69 0.348 F 15 83 0.181 F 13 82 0.159 0.1 M 36 60 0.600 M 52 45 1.156 M 30 64 0.469 F 30 67 0.448			F	51	44	1.159
7 0 M 13 86 0.151 M 22 71 0.310 M 17 78 0.218 F 24 69 0.348 F 15 83 0.181 F 13 82 0.159 0.1 M 36 60 0.600 M 52 45 1.156 M 30 64 0.469 F 30 67 0.448			F	50	47	1.064
M 22 71 0.310 M 17 78 0.218 F 24 69 0.348 F 15 83 0.181 F 13 82 0.159 0.1 M 36 60 0.600 M 52 45 1.156 M 30 64 0.469 F 30 67 0.448	7	0	M	13	86	0.151
M 17 78 0.218 F 24 69 0.348 F 15 83 0.181 F 13 82 0.159 0.1 M 36 60 0.600 M 52 45 1.156 M 30 64 0.469 F 30 67 0.448			M	22	71	0.310
F 24 69 0.348 F 15 83 0.181 F 13 82 0.159 0.1 M 36 60 0.600 M 52 45 1.156 M 30 64 0.469 F 30 67 0.448			M	17	78	0.218
F 15 83 0.181 F 13 82 0.159 0.1 M 36 60 0.600 M 52 45 1.156 M 30 64 0.469 F 30 67 0.448			F	24	69	0.348
F 13 82 0.159 0.1 M 36 60 0.600 M 52 45 1.156 M 30 64 0.469 F 30 67 0.448			F	15	83	0.181
0.1 M 36 60 0.600 M 52 45 1.156 M 30 64 0.469 F 30 67 0.448			F	13	82	0.159
M 52 45 1.156 M 30 64 0.469 F 30 67 0.448		0.1	M	36	60	0.600
M 30 64 0.469 F 30 67 0.448			M	52	45	1 1 5 6
F 30 67 0.448			M	30	64	0.469
			F	30	67	0.448
F 74 75 0370			F	24	75	0.110
F 31 65 0.477			F	 31	65	0.477

Day	Dose (mg/kg)	Sex	Neutrophils	Lymphocytes	NLR
	1	Μ	13	86	0.151
		Μ	44	55	0.800
		Μ	44	54	0.815
		F	41	55	0.745
		F	46	48	0.958
		F	51	45	1.133

Table 1 (continued)

M male, F female, NLR neutrophil-lymphocyte ratio. Data representative of cell counts of up to 100 cells for each sample

Statistical analysis

All statistical analyses were carried out with IBM° SPSS° version 28 (IBM° Software, New York, US), whereas graphs were prepared with Graphpad® Prism® version 9 (Graphpad[®] Software, San Diego, US). The sample size in this study was estimated based on (i) the presumption that a singular pharmacological intervention with a known mechanism of action was used in wildtype mice that had the same prior experience, as was shown in our laboratory before [25] and (ii) the fact that a single dependent variable, i.e. NLR was measured. Thus, a similar biological response to each dose of said intervention could reasonably be predicted. To determine the potential interactions between exposure, sex, and time, ordinary three-way analysis of variance (ANOVA) was run, followed by interpretations of two-way interactions and main effects, where applicable. Bonferroni post-hoc comparisons were used to compare group means. Statistical significance was set at p < 0.05 all analyses. Cohen's d effect size calculations were applied to highlight the magnitude of group differences observed [26].

Results

The mean NLRs quantified over the three respective timepoints for mice in the control group were consistent with prior reports [27] (D2: 0.36 ± 0.13 ; D4: 0.25 ± 0.08 ; D7: 0.23 ± 0.08).

Exposure, sex and time did not show a significant three-way interaction in terms of impacting the NLR (F[4, 36]=1.35, p=0.27) (Fig. 2). However, exposure interacted significantly with sex (F[2, 36]=9.32, p<0.001) and time (F[4, 36]=3.23, p=0.02), respectively. Specifically, irrespective of time, the NLR values of male and female mice differed significantly at the level of high dose pegfilgrastim only (p < 0.001), with this difference missing statistical significance with respect to the low dose (p=0.13). However, the NLR values of both male and female mice exposed to the low and the high dose of pegfilgrastim differed significantly from their respective sex-matched controls (0.1 mg/kg: male: p = 0.002, female: p=0.02; 1 mg/kg: male: p=0.03, female: p<0.001). In terms of the exposure-time interaction, no differences were observed between any of the exposure groups on day two. However, both doses resulted in increased NLR values on day four (**0.1 mg/kg**: p=0.001; **1 mg/kg**: p<0.001) and day seven (**0.1 mg/kg**: p=0.004; **1 mg/kg**: p<0.001), compared to the control. Also, over time, only the high-dose pegfilgrastim increasingly bolstered the NLR through day seven, with differences seen between the NLR values of mice at both days four (p=0.003) and seven (p=0.04), compared to day two. The same comparisons were insignificant for the low-dose-exposed group. For a complete overview of the descriptive statistics, significance, and effect sizes of pairwise comparisons, please refer to Table 2.

Discussion

The main aim of this investigation was to investigate the effects of different doses of pegfilgrastim on the NLR of male and female deer mice. The main findings of the present work are (1) that both doses of pegfilgrastim, compared to the control, resulted in higher NLR values in mice of both sexes at days four and seven of testing, and (2) female mice exposed to 1 mg/kg pegfilgrastim, presented with significantly higher NLR values irrespective of time, compared to male mice exposed to the same.

In terms of our first main result, we show that both doses of pegfilgrastim increased the NLR in deer mice of both sexes at days four and seven of testing (Fig. 2, Table 2). While the effect of pegfilgrastim on granulocyte counts were expected [20], earlier work in male C57bl/6 mice and male Sprague Dawley rats showed a similar effect already 12-h after administering pegfilgrastim at doses between 0.05 and 1 mg/kg in the mice and rats respectively [20, 28]. Further, that a sustained effect of pegfilgrastim on the NLR was observed in the present work until day seven post-administration, also somewhat contrasts with previous findings showing the neutrophil count to return to baseline by this time post-administration of a 1 mg/kg dose and even earlier after a 0.1 mg/ kg dose [20]. The reasons for these temporal differences observed in deer mice might be multifactorial. For example, the delayed increase in the NLR could be related to slower absorption of the drug from the intrascapular injection site in deer mice. While the present work did not include a pharmacokinetic profiling of pegfilgrastim, prior work by Scholz, Ackermann [29] might be informative. Briefly, in a comparative study of the effects of



Fig. 2 NLR values of male and female deer mice exposed to a single s.c.i with either control or pegfilgrastim (0.1 and 1 mg/kg) as calculated at two, four, and seven days post injection. Data are reflective of individual mice, with lines indicating mean \pm standard deviation. Only the main effects of dose at day four and seven are shown. All other descriptive statistics are provided in Table 2. Three-way ANOVA followed by Bonferroni. $p \le 0.004$. NLR neutrophil-lymphocyte ratio

filgrastim and pegfilgrastim, the authors showed that the transition of pegfilgrastim from the injection site to the plasma may be slower compared to what is true for filgrastim. Also, although Molineux, Kinstler [20] administered pegfilgrastim via subcutaneous injection at the interscapular site, Tanaka, Satake-Ishikawa [28] did so intravenously, which could have accounted for the rapid onset of action observed at the time. We also considered that the delay in the onset of action reported in the present work could have resulted from a potential early, but transient increase in the lymphocyte count, since pegfilgrastim has been shown to elicit such a response in humans [30]. However, our data are not congruent with such a conclusion (Table 1). With respect to its sustained impact on NLR elevation, it should be noted that pegfilgrastim is mainly eliminated via neutrophilmediated action [31], whereby increased absolute neutrophil counts are normally associated with an increased elimination rate. It is thus possible that, combined with a delayed peak concentration as referred to above, a higher dose of pegfilgrastim is eliminated slower compared to a lower dose, resulting in sustained stimulation of granulocyte release. Nevertheless, further study is needed to confirm this notion.

Our third main finding highlights a striking sexand dose-specific effect of pegfilgrastim in deer mice. Table 2 Descriptive statistics of pairwise comparisons (significant *p*-values or large Cohen's d effect size values are highlighted in bold)

	Comparison	NLR (Mean ± SD)	p	d	95CI
Dose × Day	Day 2 vs 4				
	Ctrl	$0.36 \pm 0.13 \text{ vs } 0.25 \pm 0.08$	0.880	1.0	-2.205-0.222
	Low	0.45 ± 0.09 vs 0.65 ± 0.15	0.185	1.6	0.206—2.836
	High	$0.50 \pm 0.08 \text{ vs } 0.87 \pm 0.36$	0.003	1.4	0.092-2.661
	Day 2 vs 7				
	Ctrl	0.36±0.13 vs 0.22±0.08	0.587	1.2	-2.448-0.050
	Low	$0.45 \pm 0.09 \text{ vs } 0.58 \pm 0.30$	0.654	0.6	-0.590-1.729
	High	0.50±0.08 vs 0.77±0.33	0.039	1.1	-0.147-2.310
	Day 4 vs 7				
	Ctrl	0.25±.077 vs 0.22±0.08	1.000	0.3	-1.452-0.828
	Low	0.65±0.15 vs 0.58±0.30	1.000	0.5	-1.632-0.671
	High	0.87±0.36 vs 0.77±0.33	1.000	0.3	-1.419-0.858
	Ctrl vs Low				
	Day 2	0.36±0.13 vs 0.45±0.09	1.000	0.8	-0.419-1.943
	Day 4	0.25±0.08 vs 0.65±0.15	0.001	3.3	1.418—5.025
	Day 7	0.22±0.08 vs 0.58±0.30	0.004	1.6	0.258—2.918
	Ctrl vs High				
	Day 2	0.36±0.13 vs 0.50±0.08	0.563	1.3	-0.020-2.492
	Day 4	0.25±0.08 vs 0.87±0.36	< 0.001	2.4	0.798—3.838
	Day 7	0.22±0.08 vs 0.77±0.33	< 0.001	2.2	0.706—3.675
	Low vs High				
	Day 2	$0.45 \pm 0.09 \text{ vs } 0.50 \pm 0.08$	1.000	0.6	-0.617-1.696
	Day 4	0.65±0.15 vs 0.87±0.36	0.119	0.8	-0.413-1.951
	Day 7	0.58±0.30 vs 0.77±0.33	0.225	0.6	-0.579-1.742
Dose × Sex	Female vs Male				
	Ctrl	0.25±0.08 vs 0.31±0.13	0.489	0.5	-0.423-1.460
	Low	0.49±0.12 vs 0.62±0.26	0.130	0.6	-0.316-1.584
	High	0.88±0.28 vs 0.54±0.26	< 0.001	1.3	-2.2940.245
	Ctrl vs Low				
	Female	0.25±0.09 vs 0.49±0.11	0.018	2.4	1.118—3.582
	Male	0.31±0.13 vs 0.62±0.26	0.002	1.5	0.449—2.575
	Ctrl vs High				
	Female	0.25±0.09 vs 0.88±0.28	< 0.001	3.1	1.665—4.480
	Male	0.31±0.13 vs 0.54±0.26	0.028	1.1	0.103—2.105
	Low vs High				
	Female	0.50±0.12 vs 0.88±0.28	< 0.001	1.8	0.700—2.938
	Male	0.62±0.26 vs 0.54±0.26	0.948	0.3	-1.253-0.608
	Female Male	0.50±0.12 vs 0.88±0.28 0.62±0.26 vs 0.54±0.26	< 0.001 0.948	1.8 0.3	0.700—2.938 -1.253—0.608

Specifically, female mice that were exposed to the high dose presented with significantly higher NLR values at days four and seven post-administration, compared to their male counterparts. Importantly, this result was observed in the absence of any female-male difference in NLR at baseline (Fig. 2, Table 2). Further, while the effect of the higher dose of pegfilgrastim was similar at both days four and seven in male and female mice, respectively (Fig. 2, Table 2), the effect of the lower dose in female mice was at its maximum on day four post-administration, returning to near-baseline levels at day seven. This data should be considered with care, especially since no single study has, as far as we are aware of, explored the effects of pegfilgrastim on animals of both sexes from the same species in a single experiment. With respect to this result in deer mice, our data are especially important, since it might point to specific interactions between the pharmacodynamic actions of the drug and the underlying biology of male and female deer mice. To clarify, sex has not been shown to influence the immunomodulatory effects of other, albeit climate-related, interventions in deer mice [18]. In other words, the effect of pegfilgrastim in this model system cannot merely be ascribed to the known, but sometimes inconsistent [32] pro- and anti-inflammatory roles of female and male sex hormones, respectively [32], since such effects were found to be negligible under the prior circumstances [18]. Again, the potential influence of pharmacokinetic factors on the overall effect of pegfilgrastim in deer mice alluded to earlier, might be different for female and male mice, whereby the absorption and clearance of the drug administered at a high dose may be slower in female, compared to male mice. Importantly, that treatment-naïve male and female deer mice presented with similar NLR throughout all days of testing, would lend support for such a pharmacokinetic, rather than another biological explanation. Also, in clinical work, subcutaneous pegfilgrastim administration was associated with a large degree of variability [20], but since gender seems to have no effect in healthy humans, these findings need further exploration to come to definitive conclusions.

Collectively, the present results may have significant implications for studies relating to brain-immune crosstalk in the deer mouse model of behavioural persistence. For example, it should be considered that male and female mice will respond differently to g-CSF exposure, potentially inducing unique immunological effects in mice of the respective sexes. Therefore, conclusions of causality will need careful consideration. Secondly, it is also possible that unique naturalistic interactions between brain function and sex-specific immune processes might underlie the baseline biobehavioural presentation of male and female deer mice. Indeed, it might be especially worth investigating if animals of both sexes that present with various degrees of persistent behavioural intensity [33], also show unique immune profiles as reflected by differences in the NLR. It suffices to say that for work aimed at a greater understanding of immunological mechanisms in the presentation of persistent behavioural phenotypes, the present data provide a valuable foundation for future study.

Our work is not without limitation. Firstly, the marked influence of sex on the effects of pegfilgrastim on the NLR of deer mice was unanticipated and thus, inclusion of a larger number of mice at each sampling point may have been fruitful to observe an overall drug effect at each time point. Secondly, antigen-driven inflammation was not the focus of the present work. In fact, the direct effects of elevated non-reactive neutrophil concentrations, as opposed to that of antigen-driven neutrophilia on brain-immune crosstalk in the deer mouse model remain to be established; said investigation would be vital, especially considering that immune-inflammatory profiles observed in specific subpopulations of OCD, are mostly related to antigen-triggered reactivity. Work towards this end is continuing.

Conclusion

We show that deer mice respond in a dose-, time-, and sex-dependent manner to single dose pegfilgrastim administration. Specifically, our results show for the first time that the actions of pegfilgrastim might be delayed in deer mice and that female mice exposed to a higher dose of pegfilgrastim, present with a markedly pronounced increase in the NLR, compared to male mice. These data provide a useful basis for further study of sex-specific immunological and brain-immune crosstalk processes in deer mice.

Abbreviations

OCD	Obsessive-compulsive-disorder
PANDAS/PANS	Paediatric autoimmune neuropsychiatric disorders
	associated with streptococcal infection/paediatric acute-
	onset neuropsychiatric syndrome
NLR	Neutrophil-lymphocyte ratio
HS	High stereotypical
g-CSF	Granulocyte colony stimulating factor
ANOVA	Analysis of variance

Acknowledgements

The authors would like to express their gratitude to Mr Kobus Venter and Cor Bester of the Vivarium of the NWU for their kind assistance with the administration of pegfilgrastim and sample collection.

Author contributions

J.P.S. and D.W.W. contributed equally to the conceptualization and design of the study. J.P.S. performed the pharmacological and hematological experimentation. J.P.S., F.P.V., L.B. and D.W.W. contributed equally to the interpretation of data, statistical analysis and drafting the first and final versions of the manuscript. D.W.W., F.P.V. and L.B. was responsible for funding this work.

Funding

Institutional research funding for this work was awarded to D.W.W, L.B. and F.P.V. by the NWU. Grant numbers are not applicable. J.P.S. also acknowledges and thanks the National Research Foundation of South Africa (NRF) for supporting his post-graduate studies. This work is based on the research supported in part by the NRF.

Open access funding provided by North-West University.

Data availability

The datasets used and/or analysed during the current study are available from the corresponding author on reasonable request.

Declarations

Ethical approval

This work was approved the North-West University Animal Research Ethics Committee (approval number: NWU-760-22-A5). This formed part of the M.Sc. project of J.P.S. at the NWU.

Consent to publication Not applicable.

Competing interests

The authors declare no competing interests.

Received: 12 April 2023 / Accepted: 7 August 2024 Published online: 19 August 2024

References

- Pape K, Tamouza R, Leboyer M, Zipp F. Immunoneuropsychiatry—novel perspectives on brain disorders. Nat Rev Neurol. 2019;15(6):317–28.
- Thienemann M, Park M, Chan A, Frankovich J. Patients with abrupt earlyonset OCD due to PANS tolerate lower doses of antidepressants and antipsychotics. J Psychiatr Res. 2021;135:270–78.
- Rao NP, Venkatasubramanian G, Ravi V, Kalmady S, Cherian A, Yc JR. Plasma cytokine abnormalities in drug-naïve, comorbidity-free obsessive–compulsive disorder. Psychiatry Res. 2015;229(3):949–52.

- Denys D, Fluitman S, Kavelaars A, Heijnen C, Westenberg H. Decreased TNF-α and NK activity in obsessive-compulsive disorder. Psychoneuroendocrinology. 2004;29(7):945–52.
- Cosco TD, Pillinger T, Emam H, Solmi M, Budhdeo S, Prina AM, et al. Immune aberrations in obsessive-compulsive disorder: a systematic review and metaanalysis. Mol Neurobiol. 2019;56(7):4751–59.
- Frankovich J, Swedo S, Murphy T, Dale RC, Agalliu D, Williams K, et al. Clinical management of pediatric acute-onset neuropsychiatric syndrome: part II—use of immunomodulatory therapies. J Child Adolesc Psychopharmacol. 2017;27(7):574–93.
- Hesselmark E, Bejerot S. Clinical features of paediatric acute-onset neuropsychiatric syndrome: findings from a case–control study. BJPsych Open. 2019;5(2):e25.
- 8. Bhikram T, Sandor P. Neutrophil-lymphocyte ratios as inflammatory biomarkers in psychiatric patients. Brain Behav Immun. 2022.
- Huang Z, Fu Z, Huang W, Huang K. Prognostic value of neutrophil-to-lymphocyte ratio in sepsis: a meta-analysis. Am J Emerg Med. 2020;38(3):641–47.
- Kong W, He Y, Bao H, Zhang W, Wang X. Diagnostic value of neutrophil-lymphocyte ratio for predicting the severity of acute pancreatitis: a meta-analysis. Dis Markers. 2020;2020.
- Faria SS, Fernandes Jr PC, Silva MJB, Lima VC, Fontes W, Freitas-Junior R, et al. The neutrophil-to-lymphocyte ratio: a narrative review. Ecancermedicalscience. 2016;10.
- Özyurt G, Binici NC. The neutrophil-lymphocyte ratio and platelet-lymphocyte ratio in adolescent obsessive-compulsive disorder: does comorbid anxiety disorder affect inflammatory response? Psychiatry Res. 2019;272:311–15.
- Albelda N, Joel D. Animal models of obsessive-compulsive disorder: exploring pharmacology and neural substrates. Neurosci Biobehav Rev. 2012;36(1):47–63.
- Wolmarans DW, Brand L, Stein DJ, Harvey BH. Reappraisal of spontaneous stereotypy in the deer mouse as an animal model of obsessive-compulsive disorder (OCD): response to escitalopram treatment and basal serotonin transporter (SERT) density. Behav Brain Res. 2013;256(0):545–53.
- Scheepers IM, Stein DJ, Harvey BH. Peromyscus maniculatus bairdii as a naturalistic mammalian model of obsessive-compulsive disorder: current status and future challenges. Metab Brain Dis. 2018;33(2):443–55.
- de Ridder M, Mograbi D, Wolmarans DW. Spontaneous alternation and stereotypical behaviour in deer mice: response to escitalopram and levetiracetam. Behav Pharmacol. 2022;33(4):282–90.
- Presti MF, Lewis MH. Striatal opioid peptide content in an animal model of spontaneous stereotypic behavior. Behav Brain Res. 2005;157(2):363–68.
- Demas G, Nelson R. Short-day enhancement of immune function is independent of steroid hormones in deer mice (Peromyscus maniculatus). J Comp Physiol B. 1998;168:419–26.
- 19. Curran MP, Goa KL. Pegfilgrastim. Drugs. 2002;62:1207-13.

- Molineux G, Kinstler O, Briddell B, Hartley C, McElroy P, Kerzic P, et al. A new form of Filgrastim with sustained duration in vivo and enhanced ability to mobilize PBPC in both mice and humans. Exp Hematol. 1999;27(12):1724–34.
- Lord BJ, Woolford LB, Molineux G. Kinetics of neutrophil production in normal and neutropenic animals during the response to filgrastim (r-metHu G-CSF) or filgrastim SD/01 (PEG-r-metHu G-CSF). Clin Cancer Res. 2001;7(7):2085–90.
- 22. Underwood W, Anthony R. AVMA guidelines for the euthanasia of animals: 2020 edition. Retrieved on March. 2020;2013(30):2020–21.
- Houwen B. Blood film preparation and staining procedures. Clin Lab Med. 2002;22(1):1–14.
- Koepke JA. Standardization of the manual differential leukocyte count. Lab Med. 1980;11(6):371–75.
- Meiring M. The Neutrophil-to-lymphocyte Ratio in the Deer Mouse and Its Response to Escitalopram Treatment. Potchefstroom: North-West University; 2021.
- 26. Cohen J. Statistical power analysis for the behavioral sciences. Hillsdale, NJ: L. Lawrence Earlbaum Associates; 1988, p. 2.
- Hickman DL. Evaluation of the neutrophil: lymphocyte ratio as an indicator of chronic distress in the laboratory mouse. Lab Animal. 2017;46(7):303–07.
- Tanaka H, Satake-Ishikawa R, Ishikawa M, Matsuki S, Asano K. Pharmacokinetics of recombinant human granulocyte colony-stimulating factor conjugated to polyethylene glycol in rats. Cancer Res. 1991;51(14):3710–14.
- Scholz M, Ackermann M, Engel C, Emmrich F, Loeffler M, Kamprad M. A pharmacokinetic model of filgrastim and pegfilgrastim application in normal mice and those with cyclophosphamide-induced granulocytopaenia. Cell Prolif. 2009;42(6):813–22.
- Hartung T, Doecke WD, Bundschuh D, Foote M, Gantner F, Hermann C, et al. Effect of filgrastim treatment on inflammatory cytokines and lymphocyte functions. Clin Pharm Therap. 1999;66(4):415–24.
- Arvedson T, O'Kelly J, Yang B-B. Design rationale and development approach for pegfilgrastim as a long-acting granulocyte colony-stimulating factor. BioDrugs. 2015;29:185–98.
- 32. Foo YZ, Nakagawa S, Rhodes G, Simmons LW. The effects of sex hormones on immune function: a meta-analysis. Biol Rev. 2017;92(1):551–71.
- De Brouwer G, Engelbrecht J, Mograbi D, Legoabe LJ, Steyn S, Wolmarans DW. Stereotypy and spontaneous alternation in deer mice and its response to anti-adenosinergic intervention. J Neurosci Res. 2021;In Press.

Publisher's Note

Springer Nature remains neutral with regard to jurisdictional claims in published maps and institutional affiliations.